


3/ Solve : 

Section B 

2x dx (y2 -3x2 ).
-3 + 4 dy=O. 
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4,- Solve x2 dxf -x J'x + y = Iogx using the method variation

of parameter for finding the particular integral. 

Section C 

5 Ch th I = 
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2✓<u dy. ·dx .. ange e order of integration in 

0 x
2
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� Evaluate · Jf0 (x+2y)dxdy, where D is the region 

bounded by the parabolas y = 2x2 and y = 1 + x2
o 
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Section D 

X
7. For the function �(x,y) = 2 2, find the magnitude of 

X +y

the directional derivative along a line making an angle 30 
with the positive x-axis at (O,' 2). 

8,:-t State Green's Theorem for a plane and v�rify the 

same for f (3x2 -8/)dx+(4y-6xy)dy, where C is 
C 

the boundary of the region bounded by

x > 0, y < 0 and 2x - 3y = 6.
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